Geometry H

Midterm Review Packet 2016-2017

Algebra Skills Review

Perform the indicated operation.

Solve for x and y.

. 3 [2x+y=5)
" |-6x—3y=-15

infintkely many
sotunons

e

bXxk3y=16
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=0

Factor each polynomial completely.

6. 3b’—6b
3b(b-2)

8 2x*+9x+4
1% Ix+iX+ Y4
X (x+4 )+ 1 (X44)

Simplify each radical completely.
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2(7x+4y=-5)
7|62x+5y=26) K
Thtlo=-6
Tk =-2l

7. 2b%? +18b+16=0
2(b*+9b 48) =0
bi+qb+8<0

(b+$)(v+l)
9. 5x*-11x-12=0

ERI-16x + 4% 1220
5(x-3)«4(x-3) =0
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13. CD has endpoint C(5,3) and D(-8,9). To the nearest tenth, what is the distance, in units, from
point C to the midpoint of the segment?

M= {g-5) 2 (3)* < JEes)0) = {daaweg = {9125 = |‘l.lumn /

14. ET has endpoint E(S,Z) and midpoint M (2, -6). Find the coordinates for endpoint T.
*\ 1}

X, 4% +X, 2 e B Yyity, 1y, -b ‘
‘—{':M > TI:T H H:6tR D X,=-l T:MB) -—;il: o= 5 42274, 2 Y-l
15. BD bisects ZABC . Find the value of x and m ZABC . l (-1,-19) ‘

xed s x"-38 meABL= 3(g)¢d + (2) %38

0: x*-34-40

“24+2+0M-35
0<(n-6)(Xx+5) [m
[et] s R
16. If the mZABC = 88° then, solve for x.
2x+X-a=§§
LYSE Bt
3X=40

o]

17. Point M is between Land N on LN . Use the given information to write an equation in terms of
x. Solve the equation. Then find LM and MN. LM = x*, MN=x and LN = 12.
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(x¢1)(x-5) 0
XY, 123
18. The measure of an angle is 28° less than the measure of its complement. Find the measure of

the angle and the measure of its complement. [~ _ o
The ang\e = 3\

X= (40-x)-28 y (< 5q°
- 16 complement =
1K=l D R3|

19. The measure of an angle is 12 less than 3 times the measure of its supplement. Find the
measure of the angle and the measure of its supplement.

X 3(150-%)-13 The angle = 132°
X= 54034 -1d W Supplement = 4E°
%z 534 34 h
4x =68 > X133




20. Solve for xand y.

65X td +3X+18=130 2y+12=102

BA+20:(%0 23:(10

$x < b0 E%
lx:z() i b

5x + 2)°X 2(y + 6)°
o1

21. Solve for x and y.

bxty= X+5y X+6y+4x =\ &0
- 6% -4y=0 > 5x+6y =\

| {@x-uw) , jws-o 5%-400)+0

fx46y=190  Fx 5y~ IO 5% = 80

ay-= (%0 -
el

22. Given that LCDE is a straight angle, please solve for x and find mZCDF and mZ£FDE.
X360+ x> 12% +64 =150

, M<CDF = 11 (10) £36 = 146°
X-X+40 {0 .
M <FDE = (0)-12(10)+54 =34 F
X% -40=0
(X-10)(x+9) =0 (11x + 36)° \ (X% — 12X + 54)°
L L
| x-»to,) xy“i C D E

23. Using the diagram on the right, please give two different examples, using correct notation, for

each of the following: m
Figure Example 1 Example 2
Segment _— —_ — =
& AC , A, BD Ch, BA, 0B .
- = =3
Rl AL, AB, bP @, Bh
i > & >
Line m,n, AC, Ab A, BA C .



